Ch 5 Isosceles and Equilateral Triangles Name:
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In triangle A above, if PQ =2x + 12, QR =x + 1, and PR =5x - 6.
Find x and QR.

In triangle A above, if Z/P=3y + 12, ZQ =5y + 6, and ZR =7y — 18.
Find y and ZP.

In triangle B above, if JK =2x — 10, KL =x + 2, and JL = 3x — 22,
Find x and KL.

In triangle B above, if ZJ =6y -6, ZK =5y + 5, and ZL =4y + 16.
Find y and Z£J.



In triangle C above, if XY =2x +4, XZ=5x —14, and YZ = 3x — 2.
Find x and YZ.

In triangle C above, if £ZX =12y, LY =15y - 15, and £LZ =7y + 25.
Find y and £Z.

In triangle D above, if TU=2x-4,UV=3x+1,and TV=x + 6.
Find x and UV.

In triangle D above, if ZT =16y + 20, ZU =5y + 15, and ZV =6y + 10.
Find y and £T.



